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SECTION – A

Question ID : 15477154601

Complex number

1. If z  0 be a complex number such that 
1

z 2
z

  , then the maximum value of |z| is :

;fn lfEeJ la[;k z  0 ds fy,  
1

z 2
z

   gS] rks |z| dk vf/kdre eku gS :

(1)  2 (2) 1 (3)  2 1 (4)  2 1

Ans. Official Answer NTA (4)

Sol. z 1/ z | 2 

1 1 1
| z | | | z | | z

| z | z | z |
    ∣ Let | z | r

1 1
r 2 r

r r
   

1
r 2

r
   & 

1
r 2

r
   always true

1
r 2

r
    & 

1
r 2

r
 

2r 1 2r 
2r 2r 1 

2(r 1) 2 

r 1 2 

max| z | 1 2  

Question ID : 15477154602

Matrices

2. Which of the following matrices can NOT be obtained from the matrix 
1 2

1 1

 
  

 by a single elementary row

operation?

vkO;wg  
1 2

1 1

 
  

 ij dsoy ,d izkjafHkd iafDr lafØ;k ls fuEu esa ls dkSulk vkO;wg izkIr ugha fd;k tk ldrk

gS ?
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(1) 
0 1

1 1

 
  

(2) 
1 1

1 2

 
  

(3) 
1 2

2 7

 
  

(4) 
1 2

1 3

 
  

Ans. Official Answer NTA (3)

Sol.
1 2

A
1 1

 
   

(1)  1 1 2

0 1
R R R

1 1
;
 

    
 possible

(2)  1 2

1 1
R R ;

1 2

 
   

 possible

(3) Option is not possible

(4)  2 2 1

1 2
R R 2R ;

1 3

 
    

 possible

 Question ID : 15477154603

Determinant

3. If the system of equations

;fn lehdj.k fudk;

x + y + z = 6

2x + 5y + z = 

x + 2y + 3z = 14

has infinitely many solutions, then  +  is equal to :

ds vuar gy gS] rks  +  cjkcj gS :

(1) 8 (2) 36 (3) 44 (4) 48

Ans. Official Answer NTA (3)

Sol. x + y + z = 6 ___(1)

2x + 5y + z =  ___(2)

x + 2y + 3z = 14 ____(3)

x + y = 6 – z

x + 2y = 14 – 3z

On solving

x = z  2  y = 8 – 2z in (2)

2 (z – 2) + 5 (8 – 2z) + z = 

( – 8) z =  – 36 For having infinite solutions

 – 8 = 0 &  – 36 = 0
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 = 8,  = 36 ( +  = 44)

Question ID : 15477154604

Continuity & Differentiability

4. Let the function   

   e elog 1 5x log 1 x
; if x 0

x
f x

10 ; if x 0

  


 
 


 be continuous at x = 0. Then  is equal

to :

ekuk Qyu   

   e elog 1 5x log 1 x
; if x 0

xf x

10 ; if x 0

  


 
 


, x = 0 ij larr gSA rks cjkcj gS %

(1) 10 (2) –10 (3) 5 (4) –5

Ans. Official Answer NTA (4)

Sol.

ln(1 5x) ln(1 x)
; x 0

f (x) x

10 ; x 0

  


 
 

x 0

ln(1 5x) ln(1 x)
lim 10

x

   


Using expension

x 0

(5x ) ( x ..)
lim 10

x

   


5 10 5    

Question ID : 15477154605

Definite Integration

5. If [t] denotes the greatest integer  t, then the value of 
1

2

0
2x 3x 5x 2 1 dx      is :

;fn [t] egÙke iw.kkZad   t gS, rks  
1

2

0
2x 3x 5x 2 1 dx      dk eku gS  :

(1) 
37 13 4

6

 
(2) 

37 13 4

6

 

(3) 
37 13 4

6

  
(4) 

37 13 4

6

  

Ans. Official Answer NTA (1)
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Sol.
1

2

0
I 2x 3x 3x 2x 2I 1 dx        ∣

  
1

1

0 0
I 2x 3x 2 x 1 dx 1dx       

     
2/3 1

2 2

0 2/3
I 2x 3x 5x 2 dx 2x 3x 5x 2 dx 1         

  

 
2/3 1

2 2

0 2/3
I 3x 7x 2 dx 3x 3x 2 dx 1          

1/3 2/3

0 1/3
( 2)dx ( 1)dx 0dx 1 dx

 

 
        

1 2 1
2

3 3 3

 
          

 

2y 3x 3x 2  

When 
2

x ,1
3

 
 

 

2 4
3x 3x 2 ,2

3

 
   

 

23x 3x 2 1    

1
2

2/3

2 1
3x 3x 2 dx 1 1

3 3

 
        

 

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Hence 
1 1

I ( ) 1
3 3

   
        
   

5 7 37 7 13

3 6 6

  
    

 

2 37 13

3 6

 
 

37 13 4

6

 


Question ID : 15477154606

Sequence & progression

6. Let   n n 0
a




  be  a  sequence  such  that a

0
  = a

1
  =  0  and a

n  +  2
  =  3a

n  +  1
  –  2a

n
  +  1,     n   0.  Then

25 23 25 22 23 24 22 24a a 2a a 2a a 4a a    is equal to :

ekuk  n n 0
a




 ,d vuqØe gS] ftlds fy, a

0
 = a

1
 = 0 rFkk a

n + 2
 = 3a

n + 1
 – 2a

n
 + 1,    n  0 gSaA rks

25 23 25 22 23 24 22 24a a 2a a 2a a 4a a   cjkcj gS :

(1) 483 (2) 528 (3) 575 (4) 624

Ans. Official Answer NTA (2)

Sol. 0 1a 0,a 0 

n 2 n 1 n 1a 3a 2a : n 0    

 n 2 n 1 n 1 na a 2 a a 1     

 2 1 1 0n 0 a a 2 a a 1    

 3 2 2 1n 1 a a 2 a a 1    

 4 3 3 2n 2 a a 2 a a 1    

 n 2 n 1 n 1 nn n a a 2 a a 1      

   n 2 1 n 1 0a a 2 a a (n 1) 0      

n 2 n 1a 2a (n 1)   

n n 2 

n n 1a 2a n 1  

Now  25 23 25 22 23 24 22 24a a 2a a 2a a 4a a  

  25 24 23 22a 2a a 2a (24)(22) 528    
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Question ID : 15477154607

P & C

7.   
20

2

r 1

r 1 r!


  is equal to :

  
20

2

r 1

r 1 r!


  cjkcj gS :

(1) 22! – 21! (2) 22! – 2(21!)

(3) 21! – 2(20!) (4) 21! – 20!

Ans. Official Answer NTA (2)

Sol.  
20

2

x 1

r 1 r!




 
20

2

x 1

(r 1) 2r r!


 

20 20

x 1 r 1

((r 1)(r 1)! r r!) r r!
 

      

20 20

x 1 r 1

((r 1)(r 1)! r r!) ((r 1)! r!)
 

       

(21 21 1) ( 21 1)    

20 21! 22! 2.21!   

Question ID : 15477154608

Indefinite Integration

8. For   
2

2022

sec x 2022
I x dx

sin x


  , if  1011I 2

4

 
 

 
, then :

 
2

2022

sec x 2022
I x dx

sin x


  ds fy,] ;fn 1011I 2

4

 
 

 
gS, rks :

(1) 
10103 I I 0

3 6

    
    

   
(2) 

10103 I I 0
6 3

    
    

   

(3) 
10113 I I 0

3 6

    
    

   
(4) 

10113 I I 0
6 3

    
    

   

Ans. Official Answer NTA (1)

Sol.
2 2022 2022I(x) sec x sin xdx 2022 sin xdx    

2022 2023tan x (sin x) (2022) tan x (sin x) cos xdx    
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20222022 (sin x) dx 
2022I(x) (tan x)(sin x) C 

At 

2022

1011 1
X / 4,2 C C 0

2


 

      
 

Hence 
2022

tan x
I(x)

(sin x)


2022

2022

1 2
I( / 6)

31
3

2

  
 
 
 

2022

2022 10102021

3 2 1
I( / 3) I

3 6( 3)3

2

 
     

  
 
 

10103 I( / 3) I( / 6)  

Question ID : 15477154609

Differential Equation

9. If the solution curve of the differential equation 
dy x y 2

dx x y

 



 passes through the points (2, 1) and

(k + 1, 2), k > 0, then :

;fn vody lehdj.k 
dy x y 2

dx x y

 



 dk gy oØ fcUnqvksa (2, 1) rFkk (k + 1, 2), k > 0, ls gksdj tkrk gS]

rks :

(1)   1 2
e

1
2 tan log k 1

k
  

  
 

(2)   1 2
e

1
tan log k 1

k
  

  
 

(3)   1 2
e

1
2 tan log k 2k 2

k 1
  

   
 

(4) 
2

1
e 2

1 k 1
2 tan log

k k
   

   
   

Ans. Official Answer NTA (1)

Sol.
dy x y 2 (x 1) (y 1)

dx x y (x 1) (y 1)

    
 

   

x 1 X, y 1 Y   

dY X Y

dX X Y





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dY dV
Y VX V X

dX dX
  

dV 1 V
V X

dX 1 V


 



2dV v 1
x

dX 1 v






2

1 V dX
dV

1 V X




 

2 2

dV 1 2VdV dX

1 V 2 1 V XX
 

   

 1 21
tan V ln 1 V ln X c

2
    

2
1

2

Y 1 Y
tan ln 1 ln(X) c

X 2 X
   

     
   

2
1

2

y 1 1 (y 1)
tan ln 1 ln(x 1) c

x 1 2 (x 1)
    

      
    

Passes through (2, 1)

1

2

1 1 1
tan In 1 ln k

k 2 k
    

      
   

2
1

2

1 1 k
2 tan In 2ln k

k k
   

   
   

 1 21
2 tan In 1 k

k
  

  
 

Question ID : 154771546010

Differential Equation

10. Let y = y(x) be the solution curve of the differential equation 
2

3 2

dy 2x 11x 13

dx x 6x 11x 6

  
  

   
 

 x 3
y

x 1





,

x > – 1, which passes through the point (0, 1). Then y(1) is equal to :

ekuk  
2

3 2

dy 2x 11x 13

dx x 6x 11x 6

  
  

   
 

 x 3
y

x 1





, x < – 1 dk gy oØ y = y(x), fcUnq (0, 1) ls gksdj tkrk

gSA rks y(1) cjkcj gS :

(1) 
1

2
(2) 

3

2
(3) 

5

2
(4) 

7

2

Ans. Official Answer NTA (2)
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Sol.

2

3 2

dy 2x 11x 13 x 3
y

dx x 6x 11x 6 x 1

   
  

    

p(x)dx
p(x)dx  I.F.  e

 22x 11x 13 dx
p(x)dx

(x 1)(x 2)(x 3)

 


   

Using partial fraction

22x 11x 13 A B C

(x 1)(x 2)(x 3) x 1 x 2 x 3

 
  

     

4
A 2

2
 

B = 1
C = – 1

p(x)dx A ln(x 1) Bln(x 2) c ln(x 3)     

2(x 1) (x 2)
ln

x 3

  
  

 

2
p(x)dx (x 1) (x 2)

I.F.  e
(x 3)

  


Solution y(IF) Q (IF)dx 
2 (x 1) (x 2)(x 1) (x 2) x 3

y
x 3 x 1

     
   

   
 dx

(x 3)

   
2 3 2x 1 x 2 x 3x

y 2x c
x 3 3 2

  
    

  

Passes through (0, 1) 
2

C
3



 
3

y 1
2

 

Question ID : 154771546011

Straight Line

11. Let m
1
, m

2
 be the slopes of two adjacent sides of a square of side a such that   2 2 2

1 2a 11a 3 m m 220    .
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If one vertex of the square is (10(cos  – sin ), 10(sin  + cos )), where  0,
2

 
 

 
 and the equation of

one diagonal is (cos  – sin ) x + (sin  + cos )y = 10, then 72(sin4 + cos4) + a2 – 3a + 13 is equal to

:

ekuk Hkqtk a ds ,d oxZ dh layXu Hkqtkvksa dh izo.krk,sa m
1
, m

2
 gSa rFkk  2 2 2

1 2a 11a 3 m m 220     gSaA ;fn

oxZ dk ,d 'kh"kZ (10(cos  – sin ), 10(sin  + cos )),  0,
2

 
 

 
 gS rFkk ,d fod.kZ dk lehdj.k

(cos  – sin ) x + (sin  + cos )y = 10 gS, rks 72(sin4 + cos4) + a2 – 3a + 13 cjkcj gS :

(1) 119 (2) 128 (3) 145 (4) 155

Ans. Official Answer NTA (2)

Sol. m
1
m

2
 = – 1

2 2
1 2

1

1
a 11a 3 m 220

m

 
    

 

Eq. of AC

AC (cos sin ) (sin cos )y 10        

BD (sin cos )x (sin cos )y 0        

(10(cos sin ),10(sin cos ))     

Slope of AC 
sin cos

tan M
sin cos

   
    

   

Eq. of line making an angle 
4
 with AC

1 2

m tan
4m , m

1 m tan
4









m 1 m 1
 or 

1 m 1 m

 


 
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sin cos
1

sin cossin cos ,
sin cossin cos

11
sin cossin cos

  


    
              

1 2m , m tan ,cot  

mid point of AC & BD

M(5(cos sin ),5(cos sin ))      

B(10(cos sin ),10(cos sin ))     

a AB 2BM 2(5 2) 10   

a = 10

2 2
1

1

1
a 11a 3  m 220

m 2

 
    

 


 2 2100 110 3 tan cot 220     

Hence 
2 2 1

tan 3, tan  or 
3 3 6

 
      

Now   4 4 272 sin cos a 3a 13     

9 1
72 100 30 13

16 16

 
     

 

5
72 83 45 83 128

8

 
     

 

Question ID : 154771546012

Trigonometric Equation

12. The number of elements in the set 
2

x xx x
S x R : 2cos 4 4

6


   
    

   
 is :

leqPp; 
2

x xx x
S x R : 2cos 4 4

6


   
    

   
 esa vo;oksa dh la[;k gS :

(1) 1 (2) 3 (3) 0 (4) infinite (vuar)

Ans. Official Answer NTA (1)

Sol.

2
x xx x

2cos 4 4
6

 
  

 

L.H.S  2. R.H.S. & 2
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Hence L.H.S = 2 & R.H.S = 2

2
x -xx +x

2cos =24 +4 =2
6

 
 
 

Check x = 0 Possible hence only one solution.

Question ID : 154771546013

Straight Line

13. Let A(, –2), B(, 6) and C , 2
4

 
 

 
 be vertices of a ABC. If  5,

4

 
 
 

 is the circumcentre of ABC, then

which of the following is NOT correct about ABC?

(1) area is 24 (2) perimeter is 25 (3) circumradius is 5 (4) inradius is 2

ekuk A(, –2), B(, 6) rFkk C , 2
4

 
 

 
 ,d f=kHkqt ABC ds 'kh"kZ gSaA ;fn ABC dk ifjdsUnz   5,

4

 
 
 

 gS] rks

bl f=kHkqt ds fy, fuEu esa ls dkSulk lgh ugha ?

(1) {ks=kQy 24 gS (2) ifjeki 25 gS (3) ifjo`Ùk dh f=kT;k 5 gS (4) varo`Ùk dh f=kT;k 2

Ans. Official Answer NTA (2)

Sol.    A , 2 : B ,6 : C , 2
4

 
    

 

since AC is perpendicular to AB.
So, ABC is right angled at A.

Circumcentre = mid point of BC. 
5

,2
8

 
  
 

5
5& 2

8 4

 
  

 = 8

Area     
1

6 8 24
2

 

Perimeter = 24
Circumradius = 5
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Inradius 
24

2
s 12


  

Question ID : 154771546014

3D Geometry

14. Let Q be the foot of perpendicular drawn from the point P(1, 2, 3) to the plane x + 2y + z = 14. If R is a point

on the plane such that OPRQ = 60°, then the area of PQR is equal to :

ekuk fcUnq P(1, 2, 3) ls lery x + 2y + z = 14 ij Mkys x, yac dk ikn Q gSA ekuk lery ij fcUnq R ds fy,

OPRQ = 60° gS, rks PQR dk {ks=kQy cjkcj :

(1) 
3

2
(2)  3 (3) 2 3 (4) 3

Ans. Official Answer NTA (2)

Sol.  

Length of perpendicular

1 4 3 14
PQ 6

6

  
 

 QR PQ cot 60º 2 

 Area of    
1

PQR PQ QR 3
2

  

Question ID : 154771546015

Vectors

15. If (2, 3, 9), (5, 2, 1), (1, , 8) and (, 2, 3) are coplanar, then the product of all possible values of  is :

;fn fcUnq (2, 3, 9), (5, 2, 1), (1, , 8) rFkk (, 2, 3) lg&ryh; gS] rks  ds lHkh laHko ekuksa dk xq.kuQy

gS :

(1) 
21

2
(2) 

59

8
(3) 

57

8
(4) 

95

8

Ans. Official Answer NTA (4)

Sol. A(2,3,9);B(5, 2,1);C(1, ,8);D( , 2,3) 

AB AC AD 0   

  
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3 1 8

1 3 1 0

2 1 6

 

    

   

[ 6( 3) 1] 8(1 ( 3)( 2)) (6 ( 2) 0               

 23( 6 17) 8 5 5 ( 4) 8           

28 57 95 0    

1 2

95

8
  

Question ID : 154771546016

Probability

16. Bag I contains 3 red, 4 black and 3 white balls and Bag II contains 2 red, 5 black and 2 white balls. One ball

is transferred from Bag I to Bag II and then a ball is drawn from Bag II. The ball so drawn is found to be black

in colour. Then the probability, that the transferred ball is red, is :

FkSys I esa 3 yky, 4 dkyh rFkk 3 lQsn xsan gS rFkk FkSys II esa 2 yky] 5 dkyh rFkk 2 lQsn xsan esa gSA FkSys I esa ls

,d xsan FkSys II  esa LFkkukarfjr dh tkrh gS vkSj rc FkSys II ls ,d xsan fudkyh tkrk gSA bl izdkj fudkyh xbZ

xsan dk jax dkyk gSA rks LFkkukUrfjr xsan dk jax yky gksus dh izkf;drk gS :

(1) 
4

9
(2) 

5

18
(3) 

1

6
(4) 

3

10

Ans. Official Answer NTA (2)

Sol.

3R 2R

4B 5B

3W 2W

A : Drown ball from boy II is black
B : Red ball transferreed

 
B P(A B)

P
A P(A)

 
 

 

3 5

9 10
3 5 4 6 3 5

9 10 9 10 9 10




    

15 15 5

15 24 15 54 18
  

 

Question ID : 154771546017
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Complex Number

17. Let S = {z = x + iy : |z – 1 + i|  |z|, |z| < 2, |z + i| = |z – 1|}. Then the set of all values of x, for which

w = 2x + iy  S for some y  R, is :

ekuk S = {z = x + iy : |z – 1 + i|  |z|, |z| < 2, |z + i| = |z – 1|}gSA rks x ds mu lHkh ekuksa] ftlds fy, fdlh

y  R ds fy, w = 2x + iy  S gS] dk leqPp; gS :

(1) 
1

2,
2 2

 
 

 
(2) 

1 1
,
42

 
 

 
(3) 

1
2,

2

 
  

(4) 
1 1

,
2 2 2

 
 

 

Ans. Official Answer NTA (2)

Sol. z 1 i z ; z 2 ; z i z 1      
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Hence

w 2x iy S  

1 1
2x x

2 4
  

Now
2 2(2x) (2x) 4 

2 1 1 1
x x ,

2 2 2

 
   

 

1 1
x ,

42

 
  

 

Question ID : 154771546018

Vectors

18. Let a, b, c
 

 be three coplanar concurrent vectors such that angles between any two of them is same. If the

product  of  their  magnitudes  is  14  and             a b . b c b c . c a c a . a b 168        
           ,  then

a b c 
 

 is equal to :

ekuk rhu lgryh; laxkeh lfn'k a, b, c
 

 bl izdkj gSa fd fdUgha Hkh nks Hkh chp ds dks.k cjkcj gSaA ;fn bu

lfn'kksa ds ifjek.kkksa dk xq.kuQy 14 gS rFkk            a b . b c b c . c a c a . a b 168        
           gS] rks

a b c 
 

 cjkcj gS :

(1) 10 (2) 14 (3) 16 (4) 18

Ans. Official Answer NTA (3)

Sol. a b c | 14
 
‖‖

2
a b b c c a

3

  
     

     

So, 
1 1 1

a b ab,b c bc,a c. ac
2 2 2

        
    

(let)

(a b) (b c) (a b)(b c) (a c)(b b)        
          

2 2 21 1 3
ab c ab c ab c

4 2 4
  

Similarly

23
(b c) (c a) abc

4
   
   
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23
(c a) (a b) a bc

4
   

  

3
168 abc(a b c)

4
  

So, (a + b + c) = 16

Question ID : 154771546019

ITF

19. The domain of the function   
2

1

2

x 3x 2
f x sin

x 2x 7
   

  
  

 is :

Qyu  
2

1

2

x 3x 2
f x sin

x 2x 7
   

  
  

 dk izkar gS :

(1) [1, ) (2) [–1, 2] (3) [–1, ) (4) (–, 2]

Ans. Official Answer NTA (3)

Sol.

2
1

2

x 3x 2
f (x) sin

x 2x 7
   

  
  

 Domain

2

2

x 3x 2
1

x 2x 7

 
 

 
 and 

2

2

x 3x 2
1

x 2x 7

 


 

22x x 9 0    and 5x 5 x 1    

x R

Hence Domain x [ 1, )  

Question ID : 154771546020

Mathematical Reasoning

20. The statement (p  q)  (p  r) is NOT equivalent to :

dFku (p  q)  (p  r) fuEu esa ls fdl rqY; ugha gS :

(1) (p  (~ r))  q (2) (~ q)  ((~ r)  p)

(3) p  (q  r) (4) (p  (~ q))  r

Ans. Official Answer NTA (2)

Sol. (p q) (p r)  

(~ p q) (~ p r)  

~ p (q r)  

p (q r) (3)     is true.

Now  (1) (p ~ r) q 

~ (p ~ r) q (~ p r) q    
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~ p (r q) p (q r)     

(4) (p ~ q) r p (q r)    

SECTION – B

Question ID : 154771546021

Statistics

21. The sum and product of the mean and variance of a binomial distribution are 82.5 and 1350 respectively. Then

the number of trials in the binomial distributions is ___________.

,d f}in caVu ds ek/; rFkk izlj.k dk ;ksx rFkk xq.kuQy Øe'k: 82.5 rFkk 1350 gSaA rks f}in caVu esa ijh{k.kksa

dh la[;k gS _________A

Ans. Official Answer NTA (96)

Sol. Let, mean = m = np

& variance = v = npq, p + q = 1

Sum 
165

m v
2

  

Product = mv = 1350

On solving,

m = np = 60 & v = npq = 
45 3 5

q P
2 8 8

   

Hence n = 96

Question ID : 154771546022

Quadratic Equation

22. Let ,  ( > ) be the roots of the quadratic equation x2 – x – 4 = 0. If P
n
 = n – n, n  N, then

2
15 16 14 16 15 14 15

13 14

P P P P P P P

P P

  
 is equal to ___________.

ekuk x2 – x – 4 = 0 ds ewy  ,  ( > ) gSaA ;fn P
n
 = n – n, n  N gS, rks 

2
15 16 14 16 15 14 15

13 14

P P P P P P P

P P

  
 cjkcj

gS_________A

Ans. Official Answer NTA (16)

Sol. n n
nP    2x x 4 0  

2
15 16 14 16 15 14 15

13 14

P P P P P P P

P P

  
 .....(1)
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As     n n n 1 n 1
n n 1P P  

      

   n 2 2 n 2 2       

 n 2 n 24    

n n 1 n 2P P 4P  

Hence Expression (1)

   16 15 14 15 15 14

13 14

P P P P P P

P P

  

      15 14 16 15 13 14

13 14 13 14

P P P P 4P 4P
16

P P P P

 
  

Question ID : 154771546023

Matrices

23. Let 

1

x 1

1

 
   
  

 and 

1 2 3

A 0 1 6

0 0 1

 
   
  

. For k  N, If X’ AAk X = 33, then k is equal to ___________.

ekuk 
1

x 1

1

 
   
  

 rFkk 
1 2 3

A 0 1 6

0 0 1

 
   
  

 gSaA k  N ds fy,, ;fn X’ AAk X = 33 gS] rks k cjkcj gS________A

Ans. Official Answer NTA (10)

Sol.

1 1 2 3

X 1 ;A 0 1 6

1 0 0 1

   
       
      

T KX A X 33

 

k
1 2 3 1

1 1 1 0 1 6 1 33

0 0 1 1

   
       
      

 
1 2 3 1

1 1 1 0 1 6 1 33

0 0 1 1

   
       
      
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As  2

1 2 3 1 2 3 1 0 6

A 0 1 6 0 1 6 0 1 0

0 0 1 0 0 1 0 0 1

      
           
           

4

1 0 6 1 0 6 1 0 12

A 0 1 0 0 1 0 0 1 0

0 0 1 0 0 1 0 0 1

     
           
          

8

1 0 24

A 0 1 0

0 0 1

 
   
  

10

1 0 6 1 0 24 1 0 30

A 0 1 0 0 1 0 0 1 0

0 0 1 0 0 1 0 0 1

     
           
          

K

1 0 3 K

for K Even A 0 1 0

0 0 1

 
    
  

T KX A X 33  (This is not correct)

 
1 0 3 K 1

1 1 1 0 1 0 1

0 0 1 1

   
   
   
      

 
1

1 1 3K 1 1 [3 K 3]

1

 
     
  

3 K 3 33 K 10    
But it should be dropeed as 33 is not matrix
If K is odd

T KX A X 33
T K 1X AAA X 33 

 
1 2 3 1 0 3k 3 1

1 1 1 0 1 6 0 1 0 1 33

0 0 1 0 0 1 1

      
           
          
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 
3k 2

1 3 8 1 [33]

1

 
   
  

[ 3k 13] [33]  

k = 20/3 (not possible)

Question ID : 154771546024

P & C

24. The number of natural numbers lying between 1012 and 23421 that can be formed using the digits

2, 3, 4, 5, 6 (repetition of digits is not allowed) and divisible by 55 is ___________.

vadksa dh iqujko`fÙk ds fcuk] vadksa 2, 3, 4, 5, 6 ds iz;ksx ls 1012 rFkk 23421 ds chp cukbZ tk ldus okyh

mu la[;kvksa] tks 55 ls foHkkT; gSa] dh la[;k gS __________A

Ans. Official Answer NTA (6)

Sol. 4 digit numbers

For divisibility by 55, no. should be

div. by 5 and 11 both 
5

a b c d
Also, for divisibility by 11

a + c = b + 5

for b = 1 a = 2, c = 4

a = 4, c = 2

for b = 2 a = 3, c = 4

a = 4, c = 3

for b = 3 a = 6, c = 2

a = 2, c = 6

 6 possible four digit no.s are div. by 55

(II) 5 digit number is not possible

      

       (Not possible)

Question ID : 154771546025

Binomial Theorem

25. If   
k

210
2

C
k 1

K 10 22000L


 , then L is equal to ___________.

;fn  
k

210
2

C
k 1

K 10 22000L


  gS, rks L cjkcj _________A
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Ans. Official Answer NTA (221)

Sol.  
10

22 10
K

K 1

 K C



   
10 102 210 9

K K 1
K 1 K 1

 K C 10. C 
 

  

10
9 9

K 1 10 K
K 1

100 C C 


 

 18
9

18!
100 C 100

9!9!

 
   

 

4862000 22000 L 

Hence L = 221

Question ID : 154771546026

Continuity & Differentiability

26. If  [t]  denotes  the  greatest  integer    t,  then  the  number  of  points,  at  which  the  function

   
1

f x 4 2x 3 9 x 12 x 20
2

 
       

 is not differentiable in the open interval (–20, 20), is ___________.

;fn [t] egÙke iw.kkZad  t gS, rks mu fcUnqvksa] ftu ij Qyu    
1

f x 4 2x 3 9 x 12 x 20
2

 
       

foo`r

varjky (–20, 20) esa vodyuh; ugha gS] fd la[;k__________.

Ans. Official Answer NTA (79)

Sol.
1

f (x) 4 | 2x 3 | 9 x 12[x 20]
2

 
       

x ( 20,20) 

f(x) is not Diff. at x I { 19, 18, .. 19} 39      

at 
1

x I , f (x)
2

   Not diff. at 39 points

Check at 
3

x
2


  Discount at 

3
x N.R(1)

2


 

No. of point of non-differentiabilty

= 39 + 39 + 1 = 79

Question ID : 154771546027

Tangent and normal

27. If the tangent to the curve y = x3 – x2 + x at the point (a, b) is also tangent to the curve y = 5x2 + 2x – 25 at the

point (2, –1), then |2a + 9b| is equal to ___________.
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;fn oØ y = x3 – x2 + x ds fcUnq (a, b) ij Li'kZ js[kk] oØ y = 5x2 + 2x – 25 dh Hkh fcUnq (2, –1) ij Li'kZ js[kk

gS] rks |2a + 9b| cjkcj __________gSA

Ans. Official Answer NTA (195)

Sol. y = 5x2 + 2x – 25 P(2, –1)

y' = 10x + 2

y'
P 
= 22

 tangent to curve at P

y + 1 = 22 (x – 2)

y = 22x – 45

2

2

C

dy
3x 2x 1

dx
  

2

Q

dy
3a 2a 1

dx
  

Hence 3a2 – 2a + 1 = 22
 3a2 – 2a – 21 = 0
3a2 – 9a + 7a – 21 = 0

(3a + 7) (a – 3) = 0 
a 3

a 7 / 3



 
from curve b = a3 – a2 + a
a = 3
b = 21 |2a + 9b| = 195
at a = –7/3 tangent will be parallel

Hence it is rejected

Question ID : 154771546028

Circle

28. Let AB be a chord of length 12 of the circle    
2 2 169

x 2 y 1
4

    . If tangents drawn to the circle at points

A and B intersect at the point P, then five times the distance of point P from chord AB is equal to ___________.

ekuk oÙ̀k    
2 2 169

x 2 y 1
4

     dh ,d thok AB dh yackbZ 12 gSA ;fn A  rFkk B ij [khaph xbZ oÙ̀k dh Li'kZ

js[kk,¡ fcUnq P ij feyrh gSa] rks fcUnq P dh thok AB ls nwjh dk ik¡p xquk cjkcj gS __________A
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Ans. Official Answer NTA (72)

Sol.

6 12
cos

13 13
2

  

5
sin

13
 

PM AM cot 

 
12

PM 6 5 PM 72
5

 
   

 

Question ID : 154771546029

Vectors

29. Let a


 and b


 be two vectors such that 
2 22

a b a 2 b ,a .b 3   
    

 and 
2

a b 75 


. Then 
2

a


 is equal to

___________.

ekuk lfn'kksa   a


 rFkk  b


 ds fy, 
2 22

a b a 2 b ,a .b 3   
    

 rFkk 
2

a b 75 


 gSa] rks 2
a


 cjkcj gS ____A

Ans. Official Answer NTA (14)

Sol. 2 2 2a b | | a | 2 | b | ;a b 3    
    

As  2 2 2 2| a | | b | 2a b | a | 2 | b |    
    

2| b | 2a b 6  
 

2| a b | 75 


2 2 2| a | | b | (a b) 75  
  

2 26 | a | 9 75 | a | 14   
 

Question ID : 154771546030

Set & Relations

30. Let S = {(x, y)  N × N : 9(x – 3)2 + 16(y – 4)2  144} and T = {(x, y)  R × R : (x – 7)2 + (y – 4)2  36}.

Then n (S  T) is equal to ___________.

ekuk S = {(x, y)  N × N : 9(x – 3)2 + 16(y – 4)2  144} rFkk T = {(x, y)  R × R : (x – 7)2 + (y – 4)2  36}

gSaA rks  n (S  T) cjkcj _________gSA
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Ans. Official Answer NTA (27)

Sol.
2 2(x 3) (y 4)

S : 1;x, y {1,2,3, ..}
16 9

 
   

2 2T : (x 7) (y 4) 36x, y R    

Let x 3 x : y 4 y   

2 2x y
S: 1; x { 2, 1,0,1, ..}

16 9
     

   
2 2T : x 4 y 36 ; y 3, 2, 1,0,.....      

S  T = (–2, 0), (–1, 0), .....(4, 0)  (7)
(–1, 1), (0, 1), ........(3, 1)  (5)
(–1, –1), (0, –1), ........(3, –1)  (5)
(–1, 2), (0, 2), (1, 2), (2, 2)  (4)
(–1, –2), (0, –2), (1, –2), (2, –2)  (4)
(0, 3) (0, –3)  (2) ..........


